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PHẦN TRẮC NGHIỆM (15 CÂU: 6 ĐIỂM) (0.4 ĐIỂM/CÂU) 

 

Câu 1 

The following statements relate to different types of data  

(i) Quanlitative data are data that can be measured  

(ii) The Saigon time is secondary data  

(iii) The primary data are cheaply available  

(iv) Discrete data can take on any value 

Which of the statements are False?   

A. (i), (iii) and (iv) only  

B. (i), (ii) and (iv) only  

C. (ii) and (iv) only  

D. (ii) and (iii) only 

ANSWER: A 

 

Câu 2 



BM-003 

2 

 

The company's factory rental costs would be classified as a(n): 

A. manufacturing overhead cost. 

B. administrative expense.  

C. selling expense. 

D. direct labour cost. 

ANSWER: A 

 

Câu 3 

The function of management that compares planned results to actual results is known as:  

A. controlling.  

B. directing and motivating.  

C. planning. 

D. decision making. 

ANSWER: A 

 

Câu 4 

The following data pertains to activity and maintenance costs for two recent years: 

 Year 2 Year 1 

Activity level in units    11,125     6,000  

Maintenance cost     6,250     4,200  

If the high-low method is used to separate fixed and variable components of the cost. What 

is the best estimate of the company's fixed costs per period? 

A. $1,800 

B. $4,500 

C. $1,500 

D. $800 

ANSWER: A 

 

Câu 5 

Given the cost formula Y = $16,500 + $5X, total cost for an activity level of 6,000  

units would be:   

A. $46,500 

B. $45,000 

C. $46,000 

D. $36,000 

ANSWER: A 

Câu 6 

The following data relates to component A:  

Ordering costs    $26 per order            

Inventory holding costs   $2 per unit per annum  

Annual demand    60,000 units    

What is the economic order quantity (EOQ) (to the nearest whole unit)?  

A. 1,249 units 

B. 1,300 units 
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C. 1,625 units 

D. 1,500 units 

ANSWER: A 

 

Câu 7 

XYZ Co makes the following purchases and sales.  

1 January     Purchases    3,000 units for $9,000        

31 January    Purchases    1,500 units for $4,800      

18 February    Sales     2,500 units for $15,000         

28 February    Purchases    2,000 units for $6,800  

20 March     Sales     1,000 units for $6,000              

At 31 March which of the following closing inventory valuations using FIFO is correct?  

A. $10,000 

B. $13,500   

C. $7,500   

D. $8,400  

ANSWER: A 

 

Câu 8 

A factory had 60 direct production employees at the beginning of last year and 45 employees 

at the end of the year. During the year, a total of 22 direct production employees had left the 

company. What is the labor turnover rate for last year? 

A. 13.33% 

B. 28.57% 

C. 41.90% 

D. 40% 

ANSWER: A 

 

Câu 9:  

The following data relate to work in the finishing department of a certain factory.  

Normal working day     8 hours   

Basic rate of pay per hour     $4  

Standard time allowed to produce 1 unit  5 minutes  

Premium bonus payable at the basic rate  50% of time saved  

On a particular day one employee finishes 120 units. What is his gross pay for the day?  

A $36   

B $40  

C $56   

D $60    

ANSWER: A 

 

Câu 10 

The following data relate to one year in Department A. 

Budgeted machine hours:                6,000  

Actual machine hours:                7,000  
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Budgeted overheads              36,000  

Actual overheads              46,000  

Based on the data above, what is the machine hour absorption rate (OAR) as 

conventionally calculated? 

A. $6 

B. $8.2 

C. $6.57 

D. $8.25 

ANSWER: A 

 

Câu 11 

A company uses an overhead absorption rate of $3.5 per machine hour, based on 15,000 

budgeted machine hours for the period. During the same period the actual total overhead 

expenditure amounted to $58,000 and 17,000 machine hours were recorded on actual 

production.  

By how much was the total overhead under or over absorbed for the period?  

A. Over absorbed by $1,500 

B. Under absorbed by $1,500  

C. Over absorbed by $5,500  

D. Under absorbed by $5,500     

ANSWER: A 

 

Câu 12 

A company absorbs overheads on machine hours. In a period, actual machine hours were 

20,000, actual overheads were $325,000 and there was under absorption of $26,000.  

What was the budgeted overhead absorption rate per machine hour (to the nearest $)?  

A. 14.95 

B. 17.55 

C. 10.30 

D. 12.35 

ANSWER: A 

 

Câu 13 

Last month, Baby’s inventory was: opening $5,000 units, closing 4,000 units. The profit 

using marginal costing was $34,500. Fixed production overhead rate was $3 per unit. What 

would the profit for the last month have been using absorption costing?  

A. $31,500 

B. $37,500 

C. $33,500 

D. $35,000 

ANSWER: A 

Câu 14 

3,000 units of material are input into a process. Actual output is 2,000 units. Normal loss is 

20% of input. Calculate the abnormal loss in the process? 

A. 400 units 
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B. 600 units 

C. 500 units 

D. 700 units 

ANSWER: A 

 

Câu 15 

Which of the following costing methods is most likely to be used by a Beauty Spa? 

A. Service costing  

B. Job costing 

C. Batch costing 

D. Process costing 

ANSWER: A 

 

 

PHẦN TỰ LUẬN (4 điểm) 

Câu 1 (1 điểm):  

An organisation manufactures a single product. The total cost of making 4,000 units is 

$34,800 and the total cost of making 10,000 units is $60,000. Within this range of activity 

the total fixed costs remain unchanged.  

Using the high-low method which of the following is the correct equation for units and total 

cost from the above data? 
 

Đáp án Câu 1: 

1. Apply high, low method  

=> the variable cost per unit (b)= (Ymax-Ymin)/(Xmax-Xmin)          (0.25 điểm) 

          =  (60,000-34,800)/(10,000-4,000)= 4.2 $/unit  

(0.25  điểm) 

 the total fixed cost = Ymax-b*Xmax                    

   =60,000-4.2*10,000=$18,000 (0.25 điểm) 

 the correct equation for units and total cost : Y=4.2X+18,000 (0.25 điểm) 

 

Câu 2 (2 điểm):  

A company uses process costing to establish the cost per unit of its output.  

The following information was available for the last month:  

Input units   15,000  

Output units   14,000  

Opening inventory  1,000 units, 100% complete for materials and 70% complete for 

conversion costs   

Closing inventory  2,000 units, 100% complete for materials and 40% complete for 

conversion costs 
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1. The company uses the weighted average method of valuing inventory. What 

were the equivalent units for conversion costs? 

2. The company uses the FIFO method of valuing inventory. What were the 

equivalent units for conversion costs? 

 

Đáp án Câu 2:  

1. The company uses the weighted average method  

The equivalent units for conversion costs=Finish units+ Closing inventory *% completed 

(0.5 điểm) 

= 14,000+2,000*40%=14,800 equivalent units (0.5 điểm) 

2. The company uses the FIFO  

The equivalent units for conversion costs = Opening inventory*(1-% completed) + incurred 

units in period+ Closing inventory * % completed  (0.5điểm) 

=1,000*(1-70%)+(14,000-1,000)+2,000*40%=14,100 equivalent units (0.5 điểm) 

 

Câu 3 (1 điểm):  

The following data relate to inventory item A:  

Average usage  140 units per day  

Minimum usage  80 units per day  

Maximum usage  200 units per day  

Lead time   10-20 days  

EOQ(reorder quantity)3,000 units  

What is the maximum inventory level?  (0.5 điểm) 

 

 

Đáp án Câu 3: 

Reorder level = maximum usage × maximum lead time  (0.25 điểm) 

  = 200 *20=4,000  (0.25 điểm) 

Maximum level = reorder level + reorder quantity – (min.usage × min. lead time) (0.25 

điểm) 

     = 4,000 +3,000 –(80*10)=6,200 (0.25 điểm) 
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